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1. Romsr HERRGE, (Contact process ) eORC3RENES SeNREFEE SRS ?

2. 5708 Omyoe ( Bidentate ligand ) 2,00 SOmETE 308,
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3. &edodo ( Helium ) &60ds o5, 8% 5,8 { Electronic configuration ) T3

238000,
4. oiw® RoryFRY, (Condition) s’ (Alkene) 0,080 IRRRDTIOH,
( Geometrical isomerism ) émbﬁ;é_od ? ‘
5. w8 i, H0imEg N0 48R e98,6x” ( Cycloalkane ) Ry 2.

6.  o° WAy ANCTIGSE Ta08A ( Grignard reagent ) BORFRLY LT3

RENEITEOTRY, TOND.
7. edy ( Alantne ) 3 Ragash, Lo,
8. 82-3 #)oud‘% 353y, ( Cjonjugai.;e acid‘)- o30ede ?
9. @z;raﬁdﬁﬁ% %0 aoddeab ?

10, emroks eRp w3, HRNenD i, Lo SOHHE, FOE RoroFReRd ?

i - B
Hoedd: ) GSRITECH BBy, FBRYRY L0308

H  De0teom BB che St soBrivsy Be0aNEd.
B | . 10x2=20

11. SouEn o8 Teried s, vor Bohe), 63 CmNOEs. S&,0Man,m ¥R Sady,

ok ' | /
) . //

12. K, [Fe(CN) |7 IUPAC 3xdeh ? onoQmhad ooF,5 Soms Hunas

RadI,0 Rosd, ey, ?



15.

16.

17.
18.
19.
20.

21.

22,

3 o Code No. 34-NS

: Bo MogEmE desrdesvos ( Dehydrating ) Ronpssray eumEdscsoan
" QEon., |

. g daaéxaf\, oz8RFS ( Clemmensen’s reduction ) 2053 ? cum@ssoisodn

QTIOA.

$9NIRINY IUPAC @350y, 898 ¢

)  CH,-NH-C,H,
i) CH,COCH,.

VARTRAS® 8 BB BpdesT SN Bert FOESEARD ? ZWeIT ZRR.

‘$,NAGE ( Triglyceride ) omdess ? w0 0¥ BN A4ES DU AR,

2580%0.

BO® YWY By, Fy28 Tyeons IR A0 mas)mzsd.@ DT F,Z, ARG,

23800, |

YO DIDTTE O, T -OBHET DRSS 4 085 ( Arrhenius theory of

electrolytic dissociation ) c3R&EIEER HTBS S0&MYRy, ( Limitations ) 25300,

e0r-2>08, ( Hardy-Schulze rule ) S0RbERY, 25300,

R0k 27°C BB 37°C 1t RO 208> HbOS GowaSert dobT08 ( Rate

constant ) QRRARIE. © §ObeH R0 38,637y, ( Energy of activation )

BOR2R000.
BARET, SRR ? &S SI 8RS (Unit ) 3wy ?
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S ayen-C
81 NSNS, SRTHTIEAR B> FBHen LI oY : . 2x5=10
23. ) &,ZReR0N0 RGPS, dsp? Xo¥0nRy) ( Hybridisation ) Fert |
eP0ESITHZ T3 0T 2WSND. ’ |
b Ky [Fe(CN)y |38, sgmn omabnd 3oanem 50, ( EAN )
%Ry, 98, Wb B N "3+2
24. a) TRYONOT @eég sRORYRY, Twly 03,000 AEISRR Bert 33,08758,80 ?
B noms e, Deond O SEAY SHE SR SUm B,EANeRy,
280, | e 342
25. o) eRoRERES, B0 HERH0R Bt SRt SRETILIE ?
by wecd e pors oor3 SR, Soems Tha, Aoegs 03, HEHNY YD ?
| 4+1
& SORSRINYO cinaymade et BBReR evBoR:  3x5=15
26. o)  lorses RLeEcHn i 03y, HOR.
b) 93,8 P8 BOmNERd QOTBERD ? 2,00 YurEcs 4R 3+2

27. &)  w,DetR0T PR Bl eoBEs SndoteD 7

B) ROt odcnon spaiasy, St SunoREhth 2 342
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83 39NS BORHORY, Bert InBoUrB S ?

28. 2)
) SOy, O BE°
B oness® ey ey
b) RS OYoesTED MoTeR> ? 4+1
29. a)  nRBeents 304 t4oT Cudson oo LlveRy 289,
b) : é::ena o mo@eédeaaﬁai;,efuda&d%o&moaﬁ QWOR. - 83+2
1. 8 SeARRen, cinmmeide st Ganen evgon : 3x5=15
130, @) 2, a¥iQ,m® ORISR, (Standard electrode potential ) 9,503,08.
TRE SRuedy 0-1 M CuSO, 38, 25°C 8O, “@ewnd. oma
SR DRy, O8, T8, B, = 0.34 V.
bl emimns chrOets Dubmbe Aoty mhire a8 weren
@&aséeﬁbﬁo. - L | ' 3+2
3l. @  evxne2ymRE (Thermodynamics ) §,8¢03 ARy 23000,
b) o, w3EE mey, VBIHITIY (OSeTT Aressoont wpe Sekos

FEOT) 208> Dowre L32wee8, FoLoRTHLy08 XS T, ®dy, 8o
oudg nas ( Dynamic ) dgeston Zert FORBBOINE 0 ? _ 1+4
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32. &) qe,Oddos aeh,Ad o ( Electrolysis ) a0we ALY, 2000,
bl 0-001 M Geiertf &y pH eS80y, BomER00.
B32,08 : 298 K 39, odors® &3 K, = 1.77 % 10-4

0 Sedns ey BordeRd ? : 2+2+1

33. o) edeRobo  8REE  (NH,Cl) e, edenedo ZEEas

(NH,OH ) 3358 wywean 3133, 080003 303 HIRDF,F R, DO
b B3 #bﬁvdoﬁ:& (Electi'ophoresis )'ma&; 3+2

34. &) rbmes, 8 HB eRFBoDE), Tew,e THoBT 5,008 FRAVFIBIIY RoEes, B

23, 0RDEDE, FERS, BoIRRD HomwED B8, K, 0hI, KA.

b)  epRoR IR, TR0 0N TES ePRTn w33

RAR0EBTEITIRY, 23308, | | . 3+2
&Szpﬁ -D
D,
B P ‘o&nmddra toch AR 00N 1 1x 10 = 10

'35..a) 1 XS @éaﬁoow&eo& TSy, aeor.

f) @ose ( Parke’s ) & LS eazss'oaa;de@ ~e~faoz3 239,030,
Z,eemvemort LOTBESRENES Soe® 3R 7. 2+1



b) 1. BCC 28deesm uzwnzy WOOND.. WO BN searts Foa3 , O30Ty,
asa@ws R Tt O, g,
i 10”2MNaOH S pH oy, ? | 3+1
9 ) $000® omen BomRe QoTBey ?
B SR o Sommn Mot smya® e et woEmBS ?
YT0R. - | 1+2
36. @) o =IT @mm@ sa o meg,d zsgsama 400, o sm'ﬂoéeosa &
Qo dacon, . . 3
b) et cocidesd 7 w0 dede ARy, 20800, | 2
O ) B SRR Comcsas sabateods 50% Oy, Fprorrog e
46 DAY DOTHH, IIRNRII. © sobod Pers
25 Sa, o Srdeden Lerrhs BN Say, ?
) o, FE HOINTAFE TomaeRT §03 ROTBERD ? 2,05 LTRSS
don. : R 3+2
D 2
81 8NTrIve), ainicREce Sids ZB e eoson : | 2x5=10
37. & - URIGERT  p-lgRec-SARRLER, IermSaH, e
| BER0RE0 S SRR, |
b yodedie Boed, 0y, et IO ? . B+2
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38. DoROT GABETR By BORKID st 4 0w08RRy Bokouis Buovs

BORLOPIED ? HRON WOD. | B

39.  Zmnns BROr eRyRsy woEdeens 1 dm® Foumacbo SRRFonde
| TYROBODE ORE0 BORRIRIY, Bert FomLRENED ? DO OHOH -

- TORIORE ROOLBTLRIRY, LWBOWO. . . ' 5
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( English Version ) |

Instructions : 1) "I‘he'question paper has four Parts.

i) Part A carries 10 marks. Each question carries one mark.
- Part B carries 20 marks. Each’ question carries two marks.

Part C carries 40 marks. Each question carries five marks.
In Part D — D , carries 10 marks and D , carries

10 marks Each question of D, carries five marks.

- iif) Write balanced chemical equations and draw- diagrams

wherever necessary

PART - A
Note: 1) Answer all the 10 questions.

- i) Questions have to be answered in one word or in one

sentence each. Each question carries ‘one mark.
’10 x1=10
1. | Name the catalert used in the contact proceSsv..
2; Giye_ an example _ior bidentate ligand.
3. Write electronic conﬁguration of Helium molecule.
4. Give the conditibn ior an alkene to exhibit geometri_cal isomerism.

5. Which is the most reactive cycloalkane ?

[ Turn over
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6.

" 10.

11.
12.
13.

14,

15.

Give equation for converting methyl iodide to Grignard reagent.
Give the formula of alanine.
Which is the conjugate acid of $2- ?

What is a semipermeable membrane ?

‘How is half-life period of a reaction related to the order ?

PART - B
Note: 1 Answer any ten questions.

1) Each qnestion carries two marks. 10 x 2 = 20

Metal oxides are unstable at high :temperatures. Explam using “Ellingham

diagram”.
Give the IUPAC name of K 4‘[ Fe (CN) 6] . What is the co-ordination

number of the central metal ion in it ?

Explain dehydrating property of concentrated 'sulphu'ric acid with an

example.

What is Clemmensen reduétion ? Give one example.
Give the IUPAC names of

) cﬁafNH-czns.‘

) .CH,COCH,.

¢



@

16.
17.
18.
19.

20,

21.

22.

11 o - Code No. 334-NS}

How ‘do you éonvertiéop‘@p’yl-chloride to propene ? Give equation. |

What isa triglyceride ? Give thé géﬁerél structure ofl a simple tﬁglycerlde. -
‘Mention two diffetences between colloids ahd true solutionsi

Give two hinitatiéﬂs of Arrhenius theory of electrolyﬁc dissociation.
State Hardy-Schulze rule

Rate constant of a reaction doubles when the temperature is increased

from 27°C to 37°C. Calculate the energy of activation of the reaction.

Define entropy. Give its SI unit.

PART -C
Answer any two of the following : ' : . 2x5=10

23. a) Explain dsp 2 hybridisation in cuprammonium sulphate.

b) Calculate the EAN of Ironin K4 [Fe (CN)g]. 3+2
24. a) Explain Ramsay Rayleigh’s method for the isolation of noble
| gases from air.

Mb) ‘Give two important differences between bonding and

antibonding molecular orbitéls. 3+2
25. a) How is Ammonia manufactured by Haber’s process ?

b) ‘What is the function of limestone and coke in the smelting of

Haematite ? ' . ‘ ‘ - 44+1
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g Answer any three of the followlng\: o o | Qx 5=15
. (26. a) | | Explain the mechanism of nifréﬁon of benzehe.
b) "What is hegaﬁ_ve mt_iuéti-\'re gfféct ? Give'bné éxaméle. 3+2
27. 'a  How is phenol manufactured from -cumepe'? |
b).. How is propane prepared by Wurtz reaction ? 3+ 2
28. a) How do ygu cdﬁvért
) | phenol to sahcylaldehyde ?
)  acetic acid to acetamide ?
‘ b) What is denaturation of ﬁroteln ? ) ; ' 441
.29, a) Elucjdaté the open chain structure of glucose.
bj : Explain .Aldql (_co'ndensation with an example. | 3+ 2
L Answer any threé of the fonomg : | 3x 5=15
30. a)": Define starid’arci electrode iJotential. \CaJCulaie the electrode
_ﬁotential of copper eléctf(;de dippcd in 0- 1 M CuSO , ét 25‘5C. l
Egu - 0-34 V. |
. b) Deri\;e' vthe eqﬁatiOn Aof Ostwald’s Qilution law for a weak

éiectrolyte. : o . 3+2



31.

32.

33,

34.

b)

b)

c)

a)

b

b}

13 ~ CodeNo. 34-NS

State the Second law of theﬁnodynamics. |

‘How is the relative lowering of vapour pressure of a solution

determined by Ostwald and Walker's dynanic method ? 1+4
State Faraday’s Second law of electrolysis.

Calculate the pH of 0-001 M formic acid, if its dissociation

constant Kais 1.77 x 10-4 at 208 K.

WhéfareLewisacids? : o 2+ 2+1

~ Explain the buffer action of a basic buffer éolutidn made of

' NH,OH and NH ,CL.

Explain Electr_ophoresis. I S . 3+2

Discuss the application iot‘; common ion effect and solubility:

prodlict ( K sp) in the selective precipita_tion of fourth group’

basic radicals.

Define osmotic pressure. Write van’'t Hoff's equation for osmotic

pressure. ‘ S 3+2
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-Code No. 34-NS
| PART - D
D,
" IV. Answer any one of the following : : | 1x10=10

35. a) 1 Explain the diamagnetic behaviour of zinc.

36.

b)

»

c)

i)

ii)

i

ii)

Name the metal used in the extraction of Ag from

argentiferrous lead by Parke's process. 2+1

Write the unit cell of a body cehtred cube (BCC ). Calculate

the number of particles per unit cell.

* What is the pH of 102 M NaOH ? S 3+1
What is a chiral carbon atom ?
Explain the action of nitrous acid on methylamine. 1+2

~ Write the energy level diagram of oxygen molecule. Show that it

is a paramagnetic molecule. o o - : 3.

What is a dipeptide ? Write its structure. R 2

i)

ii)

A first order reactlion'.is half complete in 46 minutes.
Calculate the .time_ taken for 255%. completion of the

reaction.

. What is pseudo first order reaction ? Give one example.

3+2
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‘D2 .

Answer any two of thé _,following : N 2x5=10

37. &) Howis p—bromo-acétanilide, is prepared in the laboratory frof’n’

acetanilide ?

b) How is Biuret test conducted ? - : 3+2

38. Describe the experiment to show that acid hydrolysis of methyl

acetate follows kinetics of first order. - ' 5

39. How will you estimate the amount of potassium permanganate
~dissolved in 1 dm 2 of the solution using standard oxalic acid

solution ? Write equatidn for the reaction. : ‘ 5 -
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